& % 4 + 21y O] 9157} ok 3127

D x(2x+y) @ 2 ® x
(@)y ® 2x+y

4x% + 2xy = 2x (2x +y)
A711, 2, x, 2x+y, 26,2(2x+y), x(2x+y), 2x(2x + )




D 2 —6x+9

® x2+12x+ 36 @ 422 + 16x + 16

® @)2x2
x4 day + 47 @22 + a3y +25°

@ 2x2
+4xy + 42 =
y2 = x% + 4xy + 4y? + x*

= (x4 2y)2 + »2




‘ x2 —5x+6 = (x-2)(x-3)




& A 1567 + 11x - 12 & I5-Eolishd?

@) (5x-3)(3x+ ) @ (5x-3)(3x—4)
® 3(5x—4)(x+1) @ (5x-12)(3x+1)

® (5x+12)(3x-1)

B

15x2 + 11x — 12 = (5x — 3)(3x + 4)




5. the Alo] @AMl HEs [ o] gwre 48

[Jetel 471 714 2 227

@ x2—12x—|—D
©) 9x2—|—Dx+1
® x2-[ |+ 100

@ 4x>-[ x+25

(@)x2 + 18x—|—D

B
122
o0=(3) =3
@[ J=2x2x5=20
@[ |]=2x3x1=6

o0-(3) -=
®[ ]=2x10=20




6. 2% tax+b ALEAB (2v+ 1)(x+1)0] et ol o+ pE
o7

(2x+1)(x+1)=2x2+3x+1
a=3,b=1
La+b=4




7. ol RO A2 £ Tx 4 B Q57 x 3, 3x-2 A ), A4 B
of g o2

@® 3 @ 6 @0 @—3 ® -6

B )

Ax?> +Tx+ B = (x+3)(3x - 2)
Ax?> +Tx+B=3x>+Tx—6
A=3, B=-6

L A+B=-3




8.

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)




9. (x+2)%-(2x-3)*2 7rH3s] 5t —(ax + b)(x + ¢) ©lth. o] df,
a+b+col e oY (B, ae FF)

@ -5 @ -1 @—3 @ -10 ® -12

B

x+2=A4, 2x-3=BZ g5}
(x+2)% — (2x - 3)?

:A2_B2

— (A+B)(A-B)
:(x+2—|—2x—3)(x+2—2x+3)
=Bx—-1)(-x+5)
=—-Bx-1)(x-5)
Latbte=3+(1)+(5=-3




10.

ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




